1.4. INTEGRATION BY PARTS

1.4 Integration by Parts

Exercises

1. Find the given integrals.
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. After t hours on the job, a factory worker can produce 100te units
per hour. How many units does the worker produce during the first
3 hours?

. After t weeks, contributions in response to a local fund-raising campaign
were coming in at the rato of 2,000te~%?* euros per week. How much
money was raised during the first 5 weeks?

. A manufacturer has found that marginal cost is (0.1q + 1)e%%37 euros
per unit when ¢ units have been produced. The total cost of producing
10 units is 200 €. What is the total cost of producing the first 20 units?

. A manufacturer has found that marginal cost is 1 4+ 3In(xz + 1) euros per
unit when z units have been produced. If the fixed cost is 100 €, find
the total cost function




